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DEPARTMENT OF GOVERNMENT EXAMINATIONS CHENNAI 600006

HIGHER SECONDARY SECOND YEAR EXAMINATION MARCH 2024
MATHEMATICS MARKING SCHEME -ENGLISH MEDIUM

1. The answers given in the marking scheme are based on NEW
TEXT BOOK and SOLUTION BOOK issued on 2023.

2. If a student has given any answer which is different from one
given in the marking scheme, but carries prescribed content
meaning (rigorous) such answers should be given full credit with
suitable distribution.

3. Follow the footnotes which are given under certain answer
schemes.

4. If a particular stage is wrong and if the candidate writes the
appropriate formula, then award 1 mark for the formula (for the
stage mark 2*). This mark (*) is attached with that stage. This
done with the aim that a student who did the problem correctly
without writing the formula should not be penalized.

5. In the case of Part ll, Part lll and Part |V, if the solution is correct
then award full mark directly. The stage mark is essential only if
the part of the solution is incorrect.

6. Answers written only in BLACK or BLUE Ink should be evaluated.
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CODE A CODEB
Q.No. |Option Answer Q.No. | Option Answer
1 (a) 8/3 1 (a) 45°
2 (d) 3ma* 2 (d) 8
16

3 (a) 10 3 (a) 8/3

4 (d) 2 4 (a) « 00‘

5 (d) 1&3;:>* L]
V5

6 (a) -4

(b) .
r
(d) 3ma?
16

(d) adj (AB) = (adj A)
(adj B)

(@ | [@B¥]=0

2 11 (d) d?y
dxz )~ .
12 (d) Parabola 12 (c) 2
13 (c) [5 —2 13 (d) Parabola
3 -1
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14 (a) 45° 14 (d) 2

15 (d) 1 15 | () ¥ B
N3 3 =4

16 (b) - q 16 (a) x? + y*

T

17 (a) 0 17 (b)

18 (c) 2

19 (d) | 2di (AB) = (adj A) (adj B)

20 (c) -4

g &9 PART Il

:\
CONTENT

QUEST MARK
NQ.
21\ gt =+ if+id+ihH+
(C++17+8)+ (0°+0°+11+112) 1
=0+0+0=0 1
22
a2+ﬂ2=—%anda2ﬂ2=£ 1
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3 169

¥ N 2 _
X +4x+ n 0(or)4x“+3x+169=0 ’
23 df = (2x+ 3)dx 1
df = 0.18 1
24 - dy _
y = mx (or) !
_ dJ’x
Y= dx
25 MA
26 (x-h)? £
h=-3; k=-4 ;r=3 2°
(x + +4)2 = 32
©:d
2+6x+8y+16=0
27 '\ one 2 X 2 minor # 0 1
.
: :a : p(A) =2 1
28 > . _-1)-3)n-5)-1.% .. _.
-\{bv Jg st x = .2z niseven
\ F«:;rrml.'.h:l(a::l:r)‘g><'7><5><3><1><:"r 1*
10 8 6 4 2 2
~ 63m .
__ 512
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29
limxz_3x+2=2form
x-»1x2—4x+3 0 1
. 2x—-3 1
.lrl—:n?:lIZx—t% 2 h
30 2 -1 3
[@bc]l=|1 -1 o[=0
3 -1 6

In an answer to a question, between any
mark (greater than one), if a student start

steps, but reaches the next stage with \
credit should be given to the relatz&

The given vectors are coplanar \p 1
PART Il «
@ular stages of

stage with correct
rong result then suitable

instead of denying entire

Question
No.

marks meant for the stage.
E tent Marks

Stages

31

VxZ — 1

\&&:otl( - )— a

1
cota = ( : ) 1
VxZ -1
seCca=x @>a=sec lx 1
1
cot‘l( ) —sec 1x 1
P |
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32 The equation of tangent

4x+2y+2=0(or)2x+y+1=0 e

The equation of normal x-2y+k=0; k=7
x—2y-7=0

Aliter: xx;+3(x+x1)+2(y+y,) +5=0 x;=1;y,=-3

33
34 . 3
u is an homogenous f; nof degree > 1
dy 2

35 '@e\ two numbers be x and y
I \0 x+y=12

'SS\\ P(x) = x(12 — x) 1

Px)=0=x=6 1
P'(2) 0atx=6

Pis maximumatx =6

E=05=9 1
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36 - 1
] = f dx
. 1++Vtanx
By Properties of definite integral
Im
3 +Jtanx
© 14++tanx

3n
8 T
ol = dx = —

37

91—.-:.
.\(S(\ Zw i .
e\ i) - (7

(1--1) 1=
i+ 2 - 1

= 1

\ 1+y%2 1+ x2

tan 'y=tan'x+c¢ 2
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39 The values of Random variables X are 0,1,2,3 1

X=X 0 2 3

f(x)

1
3
8

O =

3
8

Q| =

40 Al = -1 1

ladj(adjA)| = |A|™ D"
= (~I)* =1

)
40
o

any two particular stages of

PART IV

In an answer to a question,
mark (greater than one), if a nt starts from a stage with correct

steps, but reaches the ne&age with a wrong result then suitable

credit should be gi tovthe related steps instead of denying entire
&

marks meant fo: ge.
°
Quest@ Content Stage
4!@. Marks
41 . . .. (39 1
The point of intersection is (—,—)

2 4
m1=3 1
mz:—3 1
mq{ —m; 3
tan = |— 1
1+m1m2 1
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1 /(3
0 =tan"*(3)
1
41 (b) 1
tan1 X—2  x+2 - E
- () d
x—2 x+2
-1 x4l
xX—2 x+2
— % |
x+1
x+2
-t
1
- i
=32
- 1
42 a) The probabilit &nmon
X S' 8 10
f(x) 10 12 9 2
. g 36 36 36 36
'
@u;mulative distribution function
'b" X 2 4 6 8 10
F(x) | 1 5 | 15 | 27 | 1 2
36 36 36 36
26 13
P(4SX<10)—36—13 1
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a2 (b) 2z+1 > (2x+1)+i 2y 1
iz+1 (1-y)+ix
_ a+ib ad—bc _ 1
If z= —rr then T =0
_ (2x+1)+i 2y % (1-y)—-ix
- (1-y)+ix (1-y)-ix
22+ 1
Im(, ) ={
iz+1
. —x2x+1)+2y(1-y)
L Ay
2x* + 2y° +x—2y=§ c\)
43 (a) ' r. R 5 _mGhy 3 1
Diagram -= ;V = 3@ 1
S5 2
h
3 X 144
% "hzﬂ 1
144 dt 2
. v dh 9 /mi
dt 101rm hdas
Diagram 1

a = Cos al +Sinaj }

b = Cos BT +Sin Bj 1
Fxﬁ'=($ina€osﬁ—€osa$inﬂ)ﬁ E
b xd = Sin (a— Bk .

1

Sin (& — B) = Sina Cos # — Cos a Sin 8
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44 (a) Diagram 1

x*= - 4ay 1
(3,-2.5) lies on the parabola

9
.2 1
. 5
P(x,-7.5)
X1=3 \/§ m
44 (b) P=- Q=sinx

Intergrating factor =el P

Sl
xy= [xsinxd % 2*

xy——xcos nx+C 1
45(a) \& 1
: kt 1

x=Ce
,\ t=0=C =x, .
\ t=5,x=3%, =>e** =3 1
t =10, x = 9x, 1
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45 (b) d=2{+2j+k °
b=27+3j+3k > 1
¢=30+2j+k
Required Vector equation is
=(2?+2i+E)+s(2?+3i+3E) 2
+t(31+2)+ k)
Required Cartesian equation is
IX—7y+524+3 =10
46 (a) Diagram
A=4 f Ja? 4\
% 02+ ﬂ_z Sin-l ol
a *
2
46)b) —2)=8(x-1) 2
Vertex = (1,2) 1
Focus = (3,2) 1
\ Equation of directrix is x+1=0 1

47)a)

MA
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47(b)
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